
STEP 1 .
Attach LH & RH Mounting Box
to the Cabinet Sides
using #8x20mm Flat Head Screws.
Attach bumper brackets(LH & RH) to both sides
by using the longer #8x26mm flat head screws.

STEP 2
Attach the T-Bracket + Handle
to Pole  using #3x10mm
Pan Head Screws

STEP 3 .
Attach the Side Supports
to the Adjustable Wardrobe Rail
with M8X35mm Bolts
by using the Hex Key and
loosely tighten.

STEP 4.
Adjust the Wardrobe Rail length
and twist it to lock it. After adjusted
to desired width, tighten M8 screws
in STEP 3.

STEP 5. 
Use Optional Spacer for additional
clearance in shallow depth cabinets.
This will allow hangers to fit. 

2

3

4

 

4

Spacer-2pcs.

LH & RH Mounting Boxes

Side Bracket-2pcs

Hex Key-1pc

M8X35mm-2pcs.

Flat Head Screw #8x20mm-18pcs

Pan Head Screw #3x10mm-2pcs

INSIDE THE BOX:

WARDROBE LIFT
Instruction Sheet

Handle-1pc.

Wardrobe Rail-Adjustable on both sides

Pole

Mounting Instructions(Rev. 9/09)
Art. #. 805.31.201/202/203/002/003/223
 

Flat Head Screw #8x26mm-6pcs

T-Bracket

Bumper Brackets (LH+RH)-1 set

SEE REVERSE FOR IMPORTANT INFORMATION 

Alignment block

Alignment block-1pc



Alignment block
( 1 : 2 )

Alignment Block: 

It is very important to install the Mounting Boxes in the same location (height and set-
back) on the adjacent side panels. This simple block can be used as a jig to assure 
Mounting Boxes are mounted at the same height. 
 

1. Install wooden dowels in to holes. 
2. Insert Block in to the line holes on side panels directly below where Mounting 

Boxes are to be mounted. 
3. Place Mounting Boxes directly on this block, measure set-back and affix with 

attachment screws. 
4. Transfer this block to the other side and repeat. 

 

Notes:  This jig will only assist if 32mm line holes are present.  This jig will only help with height location. As set-backs vary, please take 
care to accurately measure the same set-back on both side panels. 

160,0 mm

[6 5/16 in]

60,0 mm

[2 3/8 in]

37,0 mm

[1 7/16 in]

32,0 mm

[1 1/4 in]

15,0 mm

[9/16 in]

30,0 mm

[1 3/16 in]

5,0 mm

[3/16 in]

14,0 mm

[9/16 in]

14,0 mm

[9/16 in]



W
ar

dr
ob

e 
lif

ts
: I

ns
ta

lla
tio

n 
an

d 
O

pe
ra

tin
g 

T
ip

s  
   

 (R
E

V
 9

/0
9

) 

 
In

st
al

la
tio

n 
tip

s:
 

 In
st

al
l b

ot
h 

M
ou

nt
in

g 
B

ox
es

 in
 th

e 
sa

m
e 

lo
ca

tio
n  

on
 a

dj
ac

en
t s

id
e 

pa
ne

ls
:  

P
le

as
e 

ta
k

e 
sp

ec
ia

l 
ca

re
 t

o
 m

o
u

n
t 

th
e 

M
o

u
n

ti
n

g
 B

o
x

es
 i

n
 t

h
e 

sa
m

e 
lo

ca
ti

o
n

 (
se

t-
b

ac
k

 a
n

d
 h

ei
g

h
t)

 

o
n

 e
ac

h
 p

an
el

. 
T

h
is

 w
il

l 
av

o
id

 t
h

e 
li

ft
 f

ro
m

 r
ac

k
in

g
 o

r 
b

in
d

in
g
 a

ll
o

w
in

g
 l

if
t 

to
 p

er
fo

rm
 c

o
rr

ec
tl

y
. 

S
ee

 i
n

cl
u

d
ed

 A
li

g
n

m
en

t 
B

lo
ck

 w
h

ic
h

 i
s 

u
se

d
 i

n
 c

o
n

ju
n

ct
io

n
 w

it
h

 l
in

e 
h

o
le

s 
to

 a
ss

u
re

 M
o

u
n

ti
n

g
 

B
o

x
es

 a
re

 i
n

st
al

le
d

 a
t 

th
e 

sa
m

e 
h

ei
g

h
t.

  

B
e 

su
re

 t
h

e 
se

t-
b

ac
k

 o
f 

M
o

u
n

ti
n

g
 B

o
x

es
 i

s 
ac

cu
ra

te
ly

 m
ea

su
re

d
 a

n
d

 i
s 

th
e 

sa
m

e 
o

n
 b

o
th

 s
id

es
. 
 

● 
B

e 
su

re
 t

o
 u

se
 a

ll
 M

o
u
n
ti

n
g
 S

cr
ew

s 
to

 a
ss

u
re

 a
 s

tr
o

n
g

 a
tt

ac
h

m
en

t 
to

 s
id

e 
p
an

el
s.

 

● 
B

e 
su

re
 t

o
 i

n
st

al
l 

B
u
m

p
er

 B
ra

ck
et

s 
o
n
 b

o
th

 s
id

es
. 

  
  
 

A
dj

us
ta

bl
e 

W
ar

dr
ob

e 
ra

il 
ne

ed
s t

o 
be

 lo
ck

ed
:  

O
n

ce
 t

h
e 

M
o

u
n

ti
n

g
 B

o
x

es
 a

re
 m

o
u

n
te

d
 t

o
 t

h
e 

si
d

e 
p

an
el

s 
an

d
 t

h
e 

A
d

ju
st

ab
le

 W
ar

d
ro

b
e 

R
ai

l 
is

 

ex
te

n
d

ed
 t

o
 t

h
e 

p
ro

p
er

 w
id

th
, 
tw

is
t 

th
e 

o
u

te
r 

sl
ee

v
es

 o
f 

th
e 

A
d

ju
st

ab
le

 W
ar

d
ro

b
e 

R
ai

l 
in

 o
p

p
o

si
te

 

d
ir

ec
ti

o
n
s 

to
 lo

ck
 in

 th
e 

w
id

th
. 

 

O
v

er
 o

r 
u

n
d

er
 e

x
te

n
d

in
g

 t
h

e 
w

id
th

 o
f 

th
e 

W
ar

d
ro

b
e 

ra
il

 m
ay

 c
re

at
e 

b
in

d
in

g
 w

it
h

 t
h

e 
v

er
ti

ca
l 

ar
m

s.
 (

S
ee

 s
te

p
 4

 i
n

 t
h

e 
m

o
u
n
ti

n
g
 i

n
st

ru
ct

io
n
s)

 

N
ot

 lo
ck

in
g 

th
e 

w
id

th
 m

ay
 a

ls
o 

ca
us

e 
th

e 
W

ar
dr

ob
e 

ra
il 

to
 b

en
d 

or
 b

ow
.  

 B
um

pe
r 

B
ra

ck
et

s:
 

B
e 

ce
rt

ai
n

 B
u

m
p
er

 B
ra

ck
et

s 
ar

e 
m

o
u

n
te

d
 o

n
 b

o
th

 s
id

es
 b

ef
o
re

 o
p

er
at

in
g

 l
if

t.
 F

ai
lu

re
 t

o
 d

o
 s

o
 w

il
l 

ca
u

se
 d

am
ag

e 
to

 t
h

e 
p

la
st

ic
 M

o
u

n
ti

n
g

 B
o

x
es

. 
(S

ee
 s

te
p

 1
 i

n
 t

h
e 

m
o

u
n

ti
n

g
 i

n
st

ru
ct

io
n

s)
. 

 O
pe

ra
tin

g 
tip

s:
 

 C
yc

le
 th

e 
lif

t. 
O

n
ce

 t
h

e 
li

ft
 i

s 
in

st
al

le
d

, 
cy

cl
e 

th
e 

u
n

it
 t

h
re

e 
to

 f
iv

e 
ti

m
es

 t
o

 l
o

o
se

n
 t

h
e 

p
is

to
n

s 
to

 

al
lo

w
 f

o
r 

sm
o
o
th

 o
p
er

at
io

n
. 

 

H
an

dl
e 

po
le

 n
ee

ds
 to

 b
e 

lo
ca

te
d 

in
 th

e 
ce

nt
er

 o
f t

he
 W

ar
dr

ob
e 

ra
il 

an
d 

pu
lle

d 
st

ra
ig

ht
 

do
w

n 
an

d 
no

t a
t a

n 
an

gl
e.

 T
h

is
 w

il
l 

av
o

id
 b

in
d

in
g

 a
n

d
 e

n
su

re
 p

ro
p

er
 o

p
er

at
io

n
 o

f 
th

e 
li

ft
. 
P

re
-

in
st

al
le

d
 O

-r
in

g
s 

k
ee

p
 t

h
e 

T
-B

ra
ck

et
 i

n
 p

o
si

ti
o

n
. 
 

 
A

ss
is

t t
he

 li
ft

 w
he

n 
lo

w
er

in
g.

 W
h
en

 l
o

w
er

in
g

 t
h
e 

li
ft

, 
as

si
st

 t
h

e 
H

an
d

le
 P

o
le

 u
n

ti
l 

th
e 

v
er

ti
ca

l 

ar
m

s 
re

st
 o

n
 t

h
e 

H
o

u
si

n
g

 B
u

m
p
er

s.
 L

et
ti

n
g

 t
h

e 
li

ft
 d

ro
p

 o
n

 i
ts

 o
w

n
 m

ay
 c

au
se

 d
am

ag
e 

to
 t

h
e 

h
o

u
si

n
g

. 
 

 D
is

tr
ib

ut
io

n 
an

d 
W

ei
gh

t L
im

it:
 L

o
ad

in
g

 t
h

e 
li

ft
 w

it
h

 m
o
re

 w
ei

g
h

t 
th

an
 t

h
e 

w
ei

g
h

t 
li

m
it

 w
il

l 

ca
u

se
 d

am
ag

e 
to

 t
h

e 
li

ft
. 
D

is
tr

ib
u
te

 w
ei

g
h
t 

o
f 

cl
o
th

es
 e

v
en

ly
 a

cr
o

ss
 t

h
e 

W
ar

d
ro

b
e 

R
ai

l 
to

 a
v

o
id

 

“r
ac

k
in

g
”.

  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
  
 

_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
_
 

L
oa

d/
w

ei
gh

t L
im

it 
of

 th
e 

w
ar

dr
ob

e 
lif

ts
: 

 2
6

 l
b

s 
(1

2
 k

g
) 

 
C

hr
om

e 
 

 
   

  B
la

ck
 

It
em

 n
u

m
b

er
s 

  
8

0
5

.3
1

.2
0

1
 

 
 

   
 8

0
5

.3
1

.3
0

1
 

8
0
5
.3

1
.2

0
2
 

 
 

 
   

 8
0
5
.3

1
.3

0
2
 

8
0
5
.3

1
.2

0
3
 

 
 

 
   

  8
0
5
.3

1
.3

0
3
 

 
 

 3
3

 l
b

s 
(1

5
 K

g
)  

C
hr

om
e

  B
la

ck
 

It
em

 n
u

m
b

er
s 

  
8

0
5

.3
1.

22
3

   
 8

0
5

.3
1

.3
2

3
 


